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i 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3m%EEZD - ~ — - -
ZnLs 1.00| 000 ~ 471 58.73 | #nkist | 000 ~ 471 2.06 10.43 ZnLs 1.00 ] 500 ~ 6.00 58.73 | #nlist | 5.00 ~ 6.00 | 2.06 10.43
9 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#B 2% — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 000 ~ 7.39 9427 | £hiist | 000 ~ 739 1.84 9.30 ZnLs 1.00] 500 ~ 9.70 9427 | #hiist | 500 ~ 9.70 | 1.84 9.30
3 100kN/m#%#E2%| 1.00 | 0.00 ~ 0.26 103.83 |3m%E#B %% - ~ — — —| 100kN/m#%#8=2%| 1.00 [10.62 ~ 11.35 103.83 |3m%E{B %% - ~ — — -
ZnLs 1.00| 026 ~ 8.05 100.00 | #1list | 000 ~ 805| 2.12 10.72 ZnLs 1.00 ] 500 ~ 10.62 100.00 | Zhlist | 5.00 ~ 1135 2.12 10.72
4 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — — | 100kN/mi%#BZ % — -~ — —|3m%EEZD - ~ — - -
ZnLs 1.00 | 0.00 ~ 6.47 8148 | Z#nkist | 000 ~ 647 | 1.80 9.11 ZnLs 1.00] 500 ~ 7.7 8148 | Znllst | 5.00 ~ 7.71 ] 1.80 9.11
5 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3m%EEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 6.54 8239 | #nkist | 000 ~ 654 1.90 9.60 ZnLs 1.00] 500 ~ 8.18 8239 | #nlist | 5.00 ~ 8.18 ] 1.90 9.60
6 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 442 55.13 | Znlist | 000 ~ 442 2.06 10.39 ZnLs 1.00 ] 500 ~ 5.50 55.13 | Z#nli4t | 5.00 ~ 550 | 2.06 10.39
4 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00 | 0.00 ~ 452 56.33 | Z1nllst | 000 ~ 452 1.91 9.67 ZnLs 1.00 ] 500 ~ 5.00 56.33 | Z1kl4t | 500 ~ 5.00| 1.91 9.67
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
ZFh s ~ ZhLs ~ ZFh s ~ Zhs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ Zhs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ Zhs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ ZhLs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zh s ~ Zh LS ~ Zh s ~ Zh LS ~




